1. AAT U

{z|rE 20HTH 2He Z5)
Z}ﬁzl\‘} o] thate] Ac 9]



T 3% A, B ol tiste] n(AUuB) =30, n(B) =20, n(ANB) =7 < T, n(A)
o] = szt



3.

T A% A, B ol st n(A) =24, n(B) =15, n(ANB) =9 € T, n(AU B)
o] Fh&?

O 25 @ 30 ® 35 @ 40 ® 45



T At A, B ol Histe] A = {5,8,9,13}, ANB = {59}, AUB =
{2, 4, 5,8, 9,12, 13} & off, = T AL B o Ya7}ofd ALY

@ 2 @ 4 ® 5 @ 8 ® 9



5.

F A3 A Bl Hst] B = {z | av 69 F}oli, AUB = {z |
e 129 AN B = {z | 2= 305t &5} o, A% A o ¥49

o+?

@ 4 @ 5 ® 13 @ 16 ® 20



bl Zpeis Fol M 3 0.2 Lhrgle of vl 7t 2 <]

S

11 9]

6.

@5¢cA ®7¢A @ A>10 ® AF11

D2¢A



7.

3Ho 33 11 Bt 22 £49]

el

D34



T A% A, B o) thote] n(A) =28, n(B) =35, ANB=92 4 M, n(AUB) 2]
= ot






)

s = A%
= 5 Aol ofd A7

O = AFEES Y
@ 9 oJofte] #4=9] Q]
=
® 10 =
17 Afo]e] 4
19] &= & 257} 2 9l 7|49
B0 =l

@ 3 HEHd xF

e
1o
!
oo

@ E]%LO-]O
= R R \:]l



Vol o,

P
B

{z|z= 289 oF

S

tel Ac B, BC A°|1, A

A, B o o

e
n(A) +n(B) 9

=
nn

11.

sholat.

2



] 209 o=

E[_].-

8 |

15y
-

20 PIREO] 8] WiLY | B = {zfx

A A = {zlz=

12.

@ 14 ® 16 @ 18 ® 20

O 12



13.

O]k ZFopA| =

™
@ 5% ® 77 @ 973 ® 117

® 3%



14.

oo

N
o

d

—

=
=

[¢)

she AT X 9 g Fatola,

{1, 2, 3}uX ={1, 2, 3}







? (3" 37h)

enl
|

HE
o

ol
o8

x
oig
Nfo

olp

16.

@ B c Ao n(B) < n(A)°lt}.

@ o] n(A) = 00|t

@® A

n(B)°|" A = Bo|t}.

@ n(A)

Bo|®H n(A) = n(B)°|tt.

® A

{0} ol¥ n(A) = 0°]tt.

® A



17.

| stel AUB = {a|oE 5ol5te] A4}, A = {2, 4, 5} <
B 7HNFEA] Eof she 24

@1,35 ® 235

® 1,2 34,5



